2021 Seventeenth International Mathematics Contest (Taiwan)
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6. As show in the figure, point D is outside of /AABC, connect BD, CD,
A=2s2, /3=s4, /5=64°. Then £4=7(A)50° (B)52° (C)54° (D)56°
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6. As show in the figure, two squares with the side length are 4 and 6 joint together. The area
of shaded part is cm’.

<BHEE>UIE > BRI Ry 4 2530 6 Ao HIMEE TP REE ik - FREER2 R 80 o /Y

] SRR

<>

(6+4)x6=60

00-4x4+2-6x6+2-(6+4)%(6-4) 2

=60-8-18-10=24(~F-J5357) 4 6

7. — XA 9 T - — A S B+ B EAREEfE T2 18 {4 A 470 (i
i+ At TA (G

<fEAfT>

18x9=162

470-162=308

308+(9+5)=22

A 224 -
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